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2 . Find the sum of the following:
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3. ( 1 ) i
1-4 + + 7-10 + 10-13 + 13-16 IS equal to
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5. What is the val f + + +..+ !
at is the value o 3x7 T ox1s T Tix1s 899 % 903
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6. Which of the following statement(s) is/are TRUE?
fArafaf@a & @ sla T Faa 7

1 1 1 1 12
+ + +ot ==
1x3 3x5 5x7 11 x13 13
2 1 1 1 12
+ .t ==
1x2t2x3 3xa 12x13 13
a) Only | %Only Il c)Bothlandll d) Neither I nor Il
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IfA= + + + + +
7. a2t it et ttaaat i upto 20 terms, then what is

the value of A?
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8. If a = sum of the first 20 terms of 4—>1<5+

1

1 e
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9. What is the value of - +—+—-+—-+—+
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10, If X = R
213 13-141+ 1a15 1+ 2324’
Y= 3637 13738 T3830 T " T 7175 then

X .
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L T mu. S i

36-37 37-38 38-39 71-72°
Ald :
1 1
a)- b) —
)3 )24

c)% /{3

SSC CHSL 2018



| | 17






1 1

+ =7
(3x5x?)/x9 5><(7><9><11)

6

_ | NP
G [ 5x5x7 “Ixax l’}




- 1 1 1
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12. What is the value of 3><5><7+5><7><9 T7ox1l +....cec... up to 10
terms?
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)3 What is the value of S ’“@
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Under root patterns:

ﬁ 84+ oo|= X \/56+\/56+\/56+. o =%
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M. \/6+ 6 +6 + -+ is equal to

a) 63 b) 6 c)31
Q) :




5. \/72 — V72 =72 — - isequal to

Y N < 1 c)9 d)3
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. and n=\/5—\/5—\/5—. e . .. then

2 (x+1)
Wm:\/5+\/5+\/5+...........3ﬁTn=\/5—\/5—\/5—..........%’Fl’fm st #
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I7. The value of\/l +vVv1+vV1+ -

'7(_=J| \/1+\/1+\/ﬁrﬂma%:
a) Equalsto 1 b) Lies between 0 and 1

Lies between 1 and 2 d) is greater than 2
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. \/a+\/a—\/a+\/a—.......oo =

. \/a—\/a+\/a—\/a+.......oo

. \/ain\/a + nva+. ......©
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=break into 2 numbers with gap of n

V4a+b%2+b
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:)M:Jé-dg—’?_ﬂ’ 2. If \/6-{-\/ L6+\/6—— then
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— 61,)"6_,«) mt—12m? +m+36=2 1
DHm=6= [& IR m:\/6+\/6—\/6+\/6—........ooFﬁ
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